Company	MRGV	Name of contractor	Janardh	an prasad	SI. No. site	bills reg.	360	
Project/site	BRGV	Nature of work		WORK	Dt. site bill	s reg.	360	24
Block no.	A	Work done from date		20-02-2024	M-codex bi			
WO no.	NA	Work done to date		30-06-2024 WO issued		VO issued ?		
WO date	NA	Contractor bill no.		GST bill require				
Sl. No.	Unit/floor no	Details of work		Qty	Units	Rate ID	Rate	Amount
1	Internal duct flooring	Internal duct flooring		1111.750	SFT	TF237	24.00	26,682.00
2		Dust shifting + 8% each floor		1111.000	SFT	LFT127	2.70	2,999.70
3	External duct flooring	External duct flooring		1400.000	SFT	TF237	24.00	33,600.00
4		Dust shifting + 8% each floor		1400.000	SFT	LFT127	2.70	3,780.00
5								
6								
7								
8								
9								
10								(2.0(1.20
							Total	67,061.70
						Add GST @		0.00
				Tota	l amount in	cluding taxes f	or work done	67,061.70
Remarks:	Dust shifting + 8% each floor					D:		
Approved	Beconstrate: By	Approved by QS team			• •	y Director/E&D	team	
Sign: (AP	who makente	Sign:			Sign:			
Date:	OR DOL ZOE	Date:			Date:			

Notes: 1. This sheet replaces installation and directors approval is required i.e., details cannot be emerged above of GOLD in the state of the stat

ESTIMATE					L	and provide the contract representatives to the con-
COMPANY	NAME	MRGV	APPROVED BY			The second secon
PROJECT		BRGV	SIGN:			
WORK DIS	CRIPTION	TILING WORK				and the second s
PREPARED) BY	SYED GOLAM SARWAR				
DATE		06-07-2024				
CONTRAC	TOR NAME	Janardhan prasad				
			A		В	AXB
SL NO	ITEM HEAD	ITEM DISCRIPTION	QUANTITY	UNITS	RATE	AMOUNT
1	Internal duct flooring	Internal duct flooring	1,111.75	Nos	24.00	26,682.00
		Dust shifting + 8% each floor	1,111.00	Nos	2.70	2,999.70
2	External duct flooring	External duct flooring	1,400.00	Nos	24.00	33,600.00
		Dust shifting + 8% each floor	1,400.00	Nos	2.70	3,780.00
					Total	67,061.70

MEASURE	MENT SHEET				T			T
COMPANY	NAME	MRGV			ADDE	OVED BY		-
PROJECT		BRGV	BRGV		Arri	SIGN:		1
WORK DIS	CRIPTION	TILING WORK			SIGN.			-
PREPARED	BY	SYED GOLAM SARWAR						-
DATE		06-07-2024						-
CONTRAC	TOR NAME	Janardhan prasad		-				-
			A	В	С	D	E=AxBxCxD	F
SL NO	ITEM HEAD	ITEM DISCRIPTION	LENGTH	WIDTH	HEIGHT	NOS		
1 In	Internal duct flooring	Flooring of duct west side of flat no 12 series	21.00	13.00	1.00	1.00	273.00	
		Flooring of duct south side of flat no 15 series	14.50	6.50	1.00	1.00	94.25	
		Flooring of duct north side of flat no 17 series	21.00	7.00	1.00	1.00	147.00	-
		Flooring of duct north side of flat no 7 series	18.00	13.00	1.00	1.00	234.00	
		Flooring of duct east side of flat no 10 series	13.50	7.00	1.00	1.00	94.50	
		Skirting	88.00	46.5	1	2	269.00	
						Total	1,111.75	sft
		Dust shifting + 8% each floor	1,111.00	1	1	1	1,111.00	sft
2	External duct flooring	Flooring of duct west side of flat no 11 series	22	20	1	1	440.00	C&
		Skirting	40	1	1	1	40.00	
		Flooring of duct east side of flat no 13 & 15 series	20	20	1	2	800.00	
		Skirting	60	1	1	2	120.00	
						Total	1,400.00	-
		Dust shifting + 8% each floor	1,400.00	1	1	1	1,400.00	
							2,400.00	-

Allowance For Consumables Janardhan prasad MUHARPALLY Hyderabad

Date 06-07-2024

Type of Work:	TILING WORK
Project/Site:	BRGV
Location:	YANAKA PALLY

MRGV

Towards:

In favor of:

Allowance For Consumables

S.No.		Discription	Amount
1	Breif discription of work	done: Towards doing tiling work	Amount
			13,412.34
	Total amount:	67,061.70	

Amount in Word: Thirteen thousand four hundred twelve rupees only/-

Labour Charges Janardhan prasad MUHARPALLY Hyderabad

Date 06-07-2024

In favor of :	MRGV
Project/Site:	BRGV

Location: MUHARPALLY

Type of Work: TILING WORK

Towards: Labour Charges

S.No.		Discription	Amount
1	Breif discription of work	done: Towards doing tiling work	
			26,824.68
	Total amount:	67,061.70	

Amount in Word: Twenty six thousands eight hundred twenty four rupees only/-

Sign:		

Allowance For Equipment Janardhan prasad MUHARPALLY Hyderabad

Date 06-07-2024

In favor of:	MRGV
Project/Site:	BRGV

Location: MUHARPALLY

Type of Work: TILING WORK

Towards : Allowance For Equipment

S.No.		Discription	Amount
1	1 Breif discription of work done: Towards doing tiling work		
			26,824.68
	Total amount:	67,061.70	

Amount in Word: Twenty six thousands eight hundred twenty four rupees only/-